PRELIMINARY ROUND / VONG LOAI QUOC GIA
PE SO 3
Logical Thinking/ Tw duy logic

Q1. [21.2]
If the day before yesterday was Tuesday, which day of the week will 4 days later be?

Néu ngay trieée ngdy hém qua la thir Ba, héi 4 ngay niva la thir mdy trong tuan?

A. Monday (Thir Hai) B. Tuesday (Thw Ba)
C. Wednesday (Thur Tu) D. Thursday (Thir Nam)
Solution:

Monday Tuesday Wednesday Thursday Friday  Saturday Sunday

4 before yesterday today 1 2 3
yesterday later
Key: A
Q2. [2.1.6]

17 children form a line. There are 9 people in front of Amy. What is her position
counting form behind?

17 dira tré tao thanh mét hang. C6 9 nguoi & phia trude Amy. Héi vi tri ciia ¢é dy
dém tir phia sau la thir mdy?

A.6 B.7 C.8 D.9
Solution:

17-9=8

Key: C



Q3. [2.0.5]
According to the pattern shown below, what is the number in the blank?
Duea vao quy ludt dwéi déy, so ¢ ché trong la sé ndo?

2,6,12,20,30,42,

A. 55 B. 56 C.57 D. 58
Solution:

2+4=06

6+6=12

12+8=20

20+ 10=30

30+12=42

42+ 14 =56

Key: B

Q4. [2.1.7]

John goes to school by bus and he needs to pay $5 each time. How much does he
have to pay if he goes to school and goes back home during a week by bus?

John di dén trurong bang xe buyt va anh dy can tra 5 d6 la méi lan. Hoi anh dy phai
tra bao nhiéu tién néu anh dy di dén truong va di vé nha trong mét tuan bang xe
buyt?

A. $30 B. $35 C. $65 D. §70
Solution:

(5+5)x7=170

Key: D

Q5. [2.1.3]



According to the pattern shown below, how many ® are there in the 13th group?

Duea vao quy ludt duoi day, co bao nhiéu © trong nhom thiwr 13?
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1¥Group 2% Group 3t Group 4 Group
A. 23 B. 24 C.25 D. 26
Solution:
Odd groups
I:1
3:1+4=5
5:1+4%x2=9
7:1+4%x3=13
9:1+4x4=17
11:1+4x5=21
13: 1+4%x6=25
Key: C
Arithmetic/ S6 hoc
Q6. [2.01.1]
Find the value of 3 + 13 +23 +33 + 7+ 17 + 27 + 37
Timgiatricua3 + 13 +23+33+7+17+27+37
A. 160 B. 161 C. 162 D. 163

Solution:

3+13+23+33+7+17+27+37=C+37)+(13+27)+(23+17)+(33+7)



=40+40+40+40=4x40=160
Key: A

Q7. [2.11.1]
Find the value of 45 - 6 + 27 + 6.
Tim gia tri cua 45 — 6 + 27 + 6.

A. 60 B. 72 C.78 D. 66
Solution:

45-6+27+6=45+27)+(6-6)=72+0="72

Key: B

Q8. [2.JI.1]

Find the valueof 1 + 4+ 7+ 10+ 13+ 16+19-18-15-12-9-6-3.
Timgiatricual + 4 +7+ [0+ 13 +][6+19-18§-15-12-9-6-3.

A.S B.6 C.7 D.8
Solution:

I+ 4+7+10+13+16+19-18-15-12-9-6-3=1+4-3)+(7-6)+
(10-9)+(13-12)+(16-15+19-18)=1+1+1+1+1+1+1=7

Key: C

Q9. [2.11.3]
What is the number that should be filled in the blank if the equation below is
correct?
S6 nao nén dwoc dién vao ché trong néu phép tinh dudi ddy ding?
__ +T7=14
A.2 B.3 C. 96 D. 98

Solution:



X+=7=14
X=14x7
X =098
Key: D

Q10. [2.0L1]

If A and B are different 1-digit numbers, what is the value of B if the equation is
correct?

Néu A va B la cdc sé c6 1 chit s6 khdc nhau, gid tri cia B la bao nhiéu néu phép tinh

sau dung?

AB - A=417

A3 B.2 C.4 D.5
Solution:

A=5

B-5=7

B=2

52 -5=47

Key: B

Number Theory/ Ly thuyét 6
Q11. [2.J11.3 ]

Amy has 28 apples and John has 82 apples. How many apples does John have to
give Amy to make them have the same number of apples?

Amy co 28 qua tao va John co 82 qua tdo. Hoi John phai duwa cho Amy bao nhiéu
qud téo dé ho cé sé tdo bang nhau?

A.25 B. 26 C.27 D. 28



Solution:

82 -28=54
54 +2=27
Key: C

Q12. [2.111.4]

4 children have odd number of balloons in total. Two children have odd numbers of
balloons and one child has even number of balloons. Determine the number of
balloons of the remaining child is odd or even.

4 ban nhé ¢ téng s6 bong bay la s6 1é. 2 ban c6 sé bong bay la 1é va I ban c¢6 sé
bong bay la chan. Xdc dinh s6 béng bay ciia ban con lai la 1é hay chan.

A. 0dd (56 1é)

B. Even (S6 chdn)

C. Both odd and even (Vira chan vira lé)

D. Neither odd nor even (Khéng Ié khéng chan)

Solution:

Sum 4 numbers = Odd + odd + even + 1 number = Odd

1 number : odd

Key: A

Q13. [2.IL.1]
The numbers below follow the arithmetic sequence. What is the 13" number?
Cdc $6 duéi ddy theo cdp so cong. S6 thir 13 la s6 nao?
123,120, 117, 114, 111, ...
A. 87 B. 88 C. 89 D. 90
Solution:
123 -120=3
123 -(13-1)x3=123-12%x3 =123 -36=287



Key: A

Q14. [2.1I1.2]

How many 2-digit numbers having the units digit that is smaller than 2 are there?
C6 bao nhiéu s6 ¢6 2 chi s6 ¢é chir s6 hang don vi nhé hon 2?

A. 17 B. 18 C.19 D. 20
Solution:

ab

b:2(0;1)

a:9(1:;2;3;4:;5;6;7:;8;9)

9x2=18

Key: B

Q15. [2.11L.6 |
Fill the lines with ‘+’ and ‘x’ to make the equation below correct.
Pién vao cdc dong véi dau “+ va ‘%’ dé tao thanh phép tinh ding.

1 1 2 3 4=12

A l+1+2x3+4=12 B.1+1+2+3+4=12
C.1+1x2x3+4=12 D.1+1x2x3x4=12
Solution:

1+1+2x3+4=12

Key: A

Geometry/Hinh hoc

Q16. [2.1V.2]

How many squares are there in the figure below?



Co bao nhiéu hinh vuong trong hinh dudi ddy?

A. 12 B. 14 C. 15 D. 17
Solution:

12+5=17

Key: D

Q17. [2.0V.3]

How many sides does a rectangle have?

Mot hinh chir nhat co bao nhiéu canh?

A.3 B. 6 C. 4 D.5
Solution:

4 sides

Key: C

Q18. [2.0V.7]
According to the pattern shown below, what is the figure in the space (“ 7)
provided?
Duea vao quy ludt dwéi ddy, hinh dién vao ché trong (“__ ) la hinh gi?

AOOOC AAODOC O AAOOCO  A...
A. O B.o C.a D ©
Solution:

The pattern :

AOCO A



Key: C

Q19. [2.0V.1]
At least how many squares can be seen if viewing the figure below from top?

Néu nhin hinh bén duwéi tir trén xudng thi c6 thé nhin thdy it nhat bao nhiéu 6 vuéng?

A5 B.6 C.7 D.8
Solution:

3+3=6

Key: B

Q20. [2.0V.5]
At most how many lines can be formed by using 4 points on a plane?

C6 nhiéu nhdt bao nhiéu doan thcfng ¢ thé tao thanh tir 4 diém trén mot mdt phcfng?

A.3 B. 4 C.5 D.6
Solution:
A,B,C,D
AB ; AC; AD ; BC ; BD; CD
Key: D
Combinatorics/ Té hop

Q21. [2.V5]



Amy, Andy and Johnny have some candies. After Amy gives 6 candies to Andy and
4 candies to Johnny, they have equal numbers of candies. How many candys did
Amy have more than Johnny originally?

Amy, Andy va Johnny c¢é mét sé cdi keo. Sau khi Amy cho Andy 6 cdi keo va cho
Johnny 4 cdi keo, thi ho c6 s6 keo bang nhau. Héi liic dau Amy c6 nhiéu hon Johnny
bao nhiéu cai keo?

A. 15 B. 16 C.12 D. 14
Solution:

4+6+4=14

Key: D

Q22. [2.V.2]

What is the smallest 4-digit number by using 3, 5, 7 and 0?7 (Each digit can only be
used once).

S6 nhé nhdt c6 4 chir s6 tao boi cac chir s6°3,°5, 7va 01d-sé ndo? (Moi chit s6 chi ¢6
thé diing mot lan).

A. 3057 B. 0357 C. 3750 D. 3507
Solution:

3057

Key: A

Q23. [2.V.3]

Pick 2 from 5 children to take part in mathematics competition. How many different
combinations are there?

Chon 2 trong 5 hoc sinh dé tham gia mot cugc thi toan. Hoi cé bao nhiéu cdch
chon?

A2 B.5 C. 10 D. 11



Solution:

5x4=20
20 +2=10
Key: C

Q24. [2.V.2]
How many even numbers are there in the first 26 numbers?
C6 bao nhiéu sé chdn trong 26 sé dau tién?
1,5,6,11,17,28, ...
A.8 B.9 C. 10 D. 11
Solution:
The pattern : 3 numbers : Odd ; odd ; even
26 +-3=8....2
§x1=28
Key: A

Q25. [2.V4 ]

Jack has 4 $1 coins, 3 $2 coins and 2 $5 coins, how many different values of a
product can he buy without any changes?

Jack ¢6 4 dong 1 dé la, 3 dong 2 dé6 la va 2 dong 5 dé la, héi ¢6 bao nhiéu gid tri
khdc nhau ciia mét moén hang ma anh dy c6 thé mua ma khéng c6 tién thiva tra lai?
A. 10 B. 15 C.20 D. 25
Solution:

4x1+3%x2+2%x5=4+6+10=20

Key: C



